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1  
 من الشكل : 

 هو :  yقيمة مقطع المحور 
 
 

 
 
 
 
 

 
2 

 
 من الشكل : 

 أصفار الدالة هي : 

A 3 C -1 A 2 C 2 ,- 3 - 

B 0 D -2 B 0 D 2 ,- 6 - 

𝑓(𝑥)للدالة :    Yما مقطع المحور   3 = 𝑥3 − 16𝑥  

A 0 B 4 C -4 D -16 

𝑓( 𝑥)أصفار الدالة   4 =  √𝑥 −  هي :   1

A 0 B -1 C 1 D 2 

 

 اختاري الإجابة الصحيحة فيما يلي :                        ورقة عمل جماعي :

1  
 من الشكل : 

 هو :  yقيمة مقطع المحور 
 
 

 
 
 
 
 

 
2 

 
 من الشكل : 

 أصفار الدالة هي : 

A 3 C -1 A 2 C 2 ,- 3 - 

B 0 D -2 B 0 D 2 ,- 6 - 

𝑓(𝑥)للدالة :    Yما مقطع المحور   3 = 𝑥3 − 16𝑥  

A 0 B 4 C -4 D -16 

𝑓( 𝑥)أصفار الدالة   4 =  √𝑥 −  هي :   1

A 0 B -1 C 1 D 2 

 

 اختاري الإجابة الصحيحة فيما يلي :                        ورقة عمل جماعي :


